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OS¢t MEMsHal XA 7,000
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HH: dAPEXS L MEHS S4
CHol: Sada 22 U |4 (cte & el
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
eds 282 2 Y4 519,225 492,825 26,400
NEZINREs 4 XA 519,225 492,825 26,400
201 B2 IH| 5,100 5,100 0
01 ArR2t2|tl 1,680 1,680 0
ORFHIIY Bt AHE
70,000 = 204 = 12& 1,680
02 22294 3,420 3,420 0
OXNEHIE &5 29 3,420
-&MJl= 25,000& = 200 = 12& 600
-=E= 30,000& * 204 = 12& 720
- 24| (Ltetd]) 2,100
301 Lertg8A= 514,125 487,725 26,400
1 s=dl - 2SESEAZ 514,125 487,725 26,400
O&&ENMEE 29 440,250
=z 0 253,050
=Ty 207,600
1= 2,400,0008 * 4% * 128 115,200
2s= 1,900,000& * 2% = 12& 45,600
s 1,300,000& = 3 = 12& 46,800
=25 1,700,000& * 1¥ = 12& 20,400
AT 1,087,500& * 1H = 12& 13,050
=g 1,000,000& * 1¥ = 12& 12,000
a=Ealsll 350,000& = 10Y = 128 42,000
-HILIA 114,000
A= 57,600
A= 1,200,000& * 1¥ = 12& 14,400
e 900,000& = 4H = 12& 43,200
RS E= 57,600,000 * 4% % 1/12 19,200
- 2 A 300,000& = 5 = 12& 18,000
- 28t 245,000& * 5 = 128 14,700
- EMYI 150,000& * 5% * 63 4,500
-Brgd 31,200
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Hm: AR EHS L MBHS S4
ol R4M4 22 Y 84 (5l &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
T 1,250,002 * 2% * 122 30,000
- EHY) 10,0008 * 28§ * 63l 1,200
Ou =l 15,300
—SUE 10,0008 * 182 * 23] 3,600
g = 50,0008 * 182 * 13| 2,700
S EE 10,0008 * 182 * 13| 1,800
23 10,0008 * 182 * 13| 1,800
g5 300,002 * 9% * 23] 5,400
oMoy S=y) 4,000
-8 4 2,000,0008 * 13| 2,000
~HILIA 2,000,0002 * 13| 2,000
o464 22| 15,000
OXNFAIL &3 378,000,008 * 1/12 31,500
OF= U T8 EHIAS 6,075
O3S Yatag 500,008 * 43 2,000
MEBHSTRIY 29 184,669 180,530 4,139
| 75,061
= 12,189
2 97,419
MEHSDA 29 8,423 10,020 A1,597
| 2,527
2 5,896
307 eI2tolH 8,423 10,020 A1,597
| 2,527
2 5,896
02 PABNBE 8,423 10,020 A1,597
OMEHSDA 29 8,423
p] 2,527
z 5,896
A2 MEHSZ20 19,500 21,250 A1,750
| 9,750
2 9,750
307 PI2H0IH 19,500 21,250 A1,750
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SN 2sER
HE: APEHS L MEHS =4
Crol: MENSEZ2 Y 29 (Er9): &2
_ _ _ Muo
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl e HRE2
307 glz2told 104,640 102,900 1,740
Il 52,320
i 52,320
02 glztFaEx 104,640 102,900 1,740
OFUM MEHSXEK b
1,744,000& * 5% » 128 104,640
p) 52,320
i 52,320
O2d MM M=K SA HiX 20,928 20,580 348
] 10,464
i 10,464
307 glz2told 20,928 20,580 348
Il 10,464
= 10,464
02 glZtFaeEx 20,928 20,580 348
O0Za MUK MEUSUEX HhX
1,744,0008 18 » 128 20,928
p) 10,464
i 10,464
Oelols7us 23 5,000 0 5,000
307 glz2told 5,000 0 5,000
02 2ItAa=2X 5,000 0 5,000
O0R0IE7RY 29 5,000
H=tHal s8XJ 238,000 225,780 12,220
ESCOUNSHE BH X 153,000 150,000 3,000
307 QI2HOI 153,000 150,000 3,000
04 CIZHHALE X 153,000 150,000 3,000
OB=ZoNSUE £8 N2 153,000
2E Mslis &8 X3 85,000 75,780 9,220
202 Oddl 2,000 3,680 A 1,680
01 =LHoib 2,000 3,680 AT,680
oMUY =7 2,000
203 HEF=4H 9,000 10,500 A 1,500
03 AIMFAHRFAH 9,000 10,500 A 1,500
OMEMSAIM =& 9,000




SN 252
Hul: A EXS L MEHS S
ool MSHE EEX S (e9: @8
_ _ HE T
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
307 QI2t0IF 74,000 61,600 12,400
04 CIZFHAEE 74,000 61,600 12,400
SENTE 3 &I X8 25,000
E=HSSHLHE B X 4,000
OcAFOIZENS &I} X2 15,000
ORI195] ESMEHSSASH &It N 24,000
ORI3E ESTONIEOISMEHSUE &
o N 6,000
BBIE BE U e 2,490,240 4,803,600 ~2,313,360
= 1,000,000
= 300,000
2 1,190,240
nETRE- e S~ 490,240 4,808,600 ~2,313,360
= 1,000,000
= 300,000
2 1,190,240
DL2ABR HL ALY 486,500 4,800,000 ~2,313,500
= 1,000,000
= 300,000
2 1,186,500
401 ASHILLHY 486,500 4,800,000 £2,313,500
= 1,000,000
= 300,000
2 1,186,500
01 Al 479,300 4,314,331 A1,835,031
BB =4 992,800
2 996,400
= 297,840
2 698,560
YBEX FE EXHY 486,500
03 Al&=CHY] 7,200 15,669 78,469
YR TH ALRUY)
2,000,000,0002 * 0.36% 7,200
2 3,600

n

2,160




2AM: 2otz
B pEolY 2E Y B
Crol: WABBL A Crol: 72l
SA - Ao (F) - NEAY - Ba S Ao e H RS2
i 1,440
22X 2tel 3,740 3,600 140
202 Oddl 3,240 3,600 A 360
=L bl 3,240 3,600 A 360
oz 2eld e 3,240
405 XH&HFESHI 500 0 500
AL =S FSHI 500 0 500
oz X 2elg CIXEItoct
500,000& = 1CH 500
HMEAL Jlgt2d 2 29 756,404 357,240 399, 164
& 150,000
= 606,404
o zZte| 202,365 222,240 219,875
M=HE 22 99,784 100,440 656
201 Ysregy| 66,624 76,580 £9,956
At22tel bl 5,400 7,900 A 2,500
OFAZEE ¥ /M 1,000
OEXE NE 100,000& =* 53| 500
OM=sss 100,000 * 58 500
O3X4Hl A& 1,000,000& 14! 1,000
SY3 4 500,000& =* 23| 1,000
OANMEE &= 250,000& * 53] 1,250
OZelHioe EIIEAM =2
150,000& = 13 150
23224l 61,224 68,680 AT ,456
Ogst2el Xt galdl 48,0003 * 23] 96
OAgotd &3l 42,0003 * 23 84
OstANERL3( & 250,000& * 23] 500
O=& g 200,000& = 12& 2,400
O Il & 2,512,000& = 12& 30,144
o= 2 o |l 10,000
OMsA&2elE JIH KXl 2,000
o248l |l 1,000
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Eet2r2 it
HEAL Jlgtxd & 29
HFAE 2t

SN C(BH) - NRAY - HES Aro Soe HlmE2
OFal 2 S Al 5,000
OAl& &l =Xl 10,000
206 M=l 12,400 12,100 300
01 &l 12,400 12,100 300
OHM = H 10,000& * 100¥ = 33l 3,000
OHILIAE A= 10,0002 * 200% 2,000
O 3 5,000& * 200% 1,000
OZL| =&l 2 (20kg) 8,000& * 650 5,200
o Cl 8,000& * 150m’ 1,200
307 glz2told 11,760 11,760 0
05 BIZIRIEZ 11,760 11,760 0
ORZHIAIAE sXHI 200,000& = 12& 2,400
OdelHole erd el 180,000& * 123 2,160
O&JI&Hl ot EA 350,000& * 128 4,200
OA2YAHl /A 22| 250,000& = 12& 3,000
401 Al&BIZL20HYI 9,000 0 9,000
01 A&l 9,000 0 9,000
OZXZHH E= 9,000,000& = 14 9,000
Nz B 47,390 55,490 £8,100
201 L3 32,150 45,850 A 13,700
01 AtR2teltl 4,750 9,250 24,500
OM=ss3 100,000& * 10& 1,000
OFAL & AMES 125,000& = 12& 1,500
OANMEE &= 250,000& * 53| 1,250
o243 34 500,000& * 23| 1,000
02 ==29gtl 27,400 36,600 A9,200
Oo=& g 200,000& = 12& 2,400
O Il & 1,250,000& = 123 15,000
OA&&EHl |Xdl 3,000
oA = =Xl 3,000
OS&&Hl Rl 500




SN 2B
HH: MSAL JBEY L 29
ol FSAA 22l Rk
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 Sl ko HRE2
OFa® o Ssttiatl sl 1,000
OFCIZI L MEI RF| 2,500
206 TH=HI 4,000 3,400 600
01 XZHl 4,000 3,400 600
OHM = H 10,000& * 100 1,000
O LI = &Hl =2 (20kg) 8,000& * 375% 3,000
307 QI2t0IA 6,240 6,240 0
EEEES 5,240 6,240 0
OSFZEHIAAE 7XHI| 200,000& = 12& 2,400
OFIIE HHEY 70,0008 * 122 2,040
O2Y&Hl A= 2 150,000& = 128 1,800
405 XHAHE S| 5,000 0 5,000
01 XA ESESH=HI 5,000 0 5,000
OSSEHI(HERAEII)
5,000,000& = 1CH 5,000
HolERH 2zl 5,700 6,800 A1,100
201 B2yl 5,700 6,800 A1,100
02 23244l 5,700 6,800 A 1,100
Oo& Il g 250,000& = 12& 3,000
=& = 100,000& = 123 1,200
OA&&EHl |l 1,500
==& 2l 4,600 6,200 A 1,600
201 LEH23H] 4,600 6,200 A 1,600
R 4,600 6,200 A1,600
Od Jl = 300,000& = 12& 3,600
OAEEY S 1,000
HEHE=IH 22| 4,600 7,600 A3,000
201 ZEH2IH] 4,600 7,600 A 3,000
02 522944 4,600 7,600 A3,000
Od Jl = 50,000& * 123 600
Ot 2 1,000
oA = SAll 1,000
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HH: MSAL JBEY L 29
ol FSAA 22l Rk
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 e HRE2

ONZEH SAl 2,000

HMEAE 22 31,411 37,070 75,659

101 el H] 22,201 22,230 A29

10 JIZtH22AsSE* 22,201 22,230 A29
OMSAIL 22| =Y 22,201
“HSAE EA 32,400 * 621 20,121
-H=E % AXNEY 52,000& * 40 2,080

202 O4Hl 8,210 13,440 N5,230

01 =Uhoit] 8,210 13,440 5,230
OHMSAL B2l £ 8,210

405 XHAHE S| 1,000 1,400 A 400

01 XA ESEH=HI 1,000 1,400 2400
OsgE22JI 1,000,000 = 1CH 1,000

M3 2l 7,920 8,640 AT20

201 Ysr2gy| 7,920 8,640 AT20

02 232944l 7,920 8,640 AT20
O HEDH 7,680
-&Jl=z 375,000& = 12& 4,500
== 265,000& = 12& 3,180
Oz 240
== 20,0004 * 123 240

=813 2el 960 0 960

201 LEH23H] 960 0 960

;2 2z=3| 960 0 960
oFIIZ2(EE) 40,000 = 123 480
O%xE2 40,0002 * 122 480

MEALE 82 2 B+ 315,000 135,000 180,000
= 150,000
= 165,000

SCE HE 10,000 10,000 0

401 Al &HIZ =204 10,000 10,000 0

01 Al&HI 10,000 10,000 0




SA: 2Bz
Ha: AL IR o 29
ool MBAS H2 U B4 (6191 &2
_ _ _ Muo
DAY SR(B) - MBAY - BES Ofl &F o8 il i~ o HRs2
ORCITH HhE(215m) 10,000
SUHRSAL B2 5,000 5,000 0
401 ASHLLHY 5,000 5,000 0
01 A2l 5,000 5,000 0
OSUHSAIE 24 1,000,0002 * 5JH A 5,000
HMSAIS 2222 A (LA S2F AEFH) 300,000 120,000 180,000
= 150,000
2 150,000
401 ASHILLHH 300,000 70,000 230,000
= 150,000
2 150,000
01 A&l 292,970 70,000 222,970
OL2E AlLHY| 292,970
= 146,485
2 146,485
02 2zlbl 5,100 0 5,100
OY2H A&yl 2l
300,000,008 * 1.7% 5,100
= 2,550
2 2,550
03 Al&SOH] 1,930 0 1,930
OB ALY 20| 1,930
= 965
2 965
HMEAE Ta 239,039 0 239,039
2SI A 239,039 0 239,039
401 AEHIL LY 239,039 0 239,039
01 AlZH] 239,039 0 239,039
ORVMSHE A2 J|=EAL A 239,039
BASSHTAE B 21,357 25,109 A3,752
HASSAFAE WA - 2Y 21,357 25,109 ~3,752
HASSAPAE 222l 16,357 20,109 ~3,752
101 Q14| 1,625 1,657 AB2
10 JAH2ENEE+ 1,625 1,657 AB2




2A: 232
B BASIHAAE B
ool BALSTAE WA - 2Y (el @l
_ _ HE T
SA-E . S(E) - MEAY - BES 0 & 24 i HIRE
OFZ2HENE =8 zZ2e o=y
35,320 * 46< 1,625
201 LEHRHH| 9,980 12,500 A2,520
01 Atf2teld 1,500 3,000 A 1,500
OsgeE 1,500
02 2294 8,480 9,500 A 1,020
OZ33R= 415,000& * 128 4,980
O = Hl 1,500
OdA==Aldl 2,000
202 O4dl 1,800 3,000 A 1,200
01 =LHAHI 1,800 3,000 A 1,200
OBASBTAY 2P £ 1,800
206 M=Hl 1,500 1,500 0
01 XZHl 1,500 1,500 0
OBASHTAE T4 YHAE
500,000& = 32 1,500
307 gI2tol& 1,452 1,452 0
05 CIZtRE=S 1,452 1,452 0
OBASHTAZ 20HUIAILE 2]
21,0008 128 1,452
SE2SHAE A2 5,000 5,000 0
401 AIEHIZSOHI 5,000 5,000 0
01 Al&HI 5,000 5,000 0
OXFs - =l 2= 200,000 = 1574 3,000
O=dlgot E= 2,000,000& *14 2,000
x-S MsSHE X& 57,720 540, 120 A482,400
st M= e 57,720 540, 120 A482,400
SUR d=F4 57,720 100, 120 A42,400
308 NXISHHMSOIE 57,720 100, 120 A42,400
06 wWSFI|I20UetExs 57,720 100, 120 A42,400
OBULISHE: 84 X8 33,600
Ousd HER K& 24,120
SHEE 622,820 416,000 206,820
ANS=HM ALK& 622,820 416,000 206,820
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SN 2B
My EHAE
o9 NHEH HAKXS CRE-E)
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 0f Ao Sl ko HRs2
O=xzelg CIXEstoet 500,008 « 14 500
HHSHZY(2HTZD]) 46,524 45,749 775
olARAH(25H 22Dt 22,332 20,669 1,663
olAdl (23 221) 18,552 16,469 2,083
101 Q12| 18,5852 16,469 2,083
00 RIHAT2RE2S 18,552 16,469 2,083
OBLIA 2L 18,552
IR 31,0308 * 198 » 2542 7,882
=G 7,881,620 * 1/3 2,628

5,818& = 18 » 20AI2t » 123 1,397
-HEF Il 300,000& = 198 « 23] 600
==k 50,000& » 1& » 12& 600
-F=5g 31,030& » 1€ ~ 111€ 3,445
S22 46,5458 » 18 » 12& 559
RPN ECIS] 31,0308 1% ~ 21 652
253 7,881,620& » 1€ * 1/10 789
EdHl(2s2Z 1) 3,780 4,200 A420
203 ESE=&d| 3,780 4,200 A420
04 RAEELRFAY 3,780 4,200 A420
O=2st2& REA2IHRFLH
350,000& = 12 = 90/100 3,780
Jl2Zdl(2a=22 D) 24,192 25,080 888
Jl2Zdl(2s220) 24,192 25,080 888
201 LEH= | 22,032 22,680 648
01 AtR2cibl 22,032 22,680 A648
OJl==8Hl 12,312
OPJE-=r=3=1:] 9,720
202 04 2,160 2,400 A240
01 2ot 2,160 2,400 2240
O=2zt2& J=gRFd 2,160




